Problem 9.68

In order to test a light socket, a woman, while standing on cushions that insulate her from the ground, sticks her finger into the socket, as shown in Fig P9.68.  The tip of her finger makes contact with one side of the line, and the side of her finger makes contact with the other side of the line.  Assuming that any portion of a limb has a resistance of 95 (, is there any current in the body?  Is there any current in the vicinity of the heart?
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Suggested Solution


[image: image2.wmf]120

Ð

0

°

 V rms

R

finger

R

rest of body

OA

95

W

I

ouch

I

ouch

= 120 / 95 = 1.26 A

rms

No current near the heart!
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